BID TABULATION SHEET (Page 1 of 4)

Attachment "B"

Official Bid Tabulation

I-5/Trosper Road/Capitol Boulevard Reconfiguration

Project No. 2017023

Project No. 2017023			TI		<u>BID #1</u>		BID #2		<u>BID #3</u>		BID #4		<u>BID #5</u>		
				Engineer's Estimate		Reed Trucking & Excavating, Inc.		Pivetta Brother's Construction, Inc.		Ceccanti, Inc.		Active Construction Inc.		Miles Resources, LLC	
ITEM	Schedule A - Transportation	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1 A	Construction Staking and Survey Work	1	L.S.	\$70,000.00	\$70,000.00	\$125,000.00	\$125,000.00	\$189,000.00	\$189,000.00	\$140,550.00	\$140,550.00	\$125,000.00	\$125,000.00	\$124,162.50	\$124,162.50
2 A	SPCC Plan	1	L.S.	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$250.00	\$250.00	\$500.00	\$500.00
3 A	Type B Progress Schedule	1	L.S.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$10,000.00	\$10,000.00	\$5 <i>,</i> 000.00	\$5,000.00	\$500.00	\$500.00
4 A	Fuel Cost Adjustment	1	CALC	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
5 A	Mobilization	1	L.S.	\$674,964.00	\$674,964.00	\$778,087.05	\$778,087.05	\$504,196.24	\$504,196.24	\$628,791.12	\$628,791.12	\$1,160,735.61	\$1,160,735.61	\$722,374.52	\$722,374.52
6 A	Minor Change	1	CALC	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
7 A	Project Temporary Traffic Control	1	L.S.	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$183,350.00	\$183,350.00	\$441,500.00	\$441,500.00	\$880,000.00	\$880,000.00	\$803,070.90	\$803,070.90
8 A	Flaggers	10,000	HR	\$80.00	\$800,000.00	\$60.00	\$600,000.00	\$80.00	\$800,000.00	\$53.00	\$530,000.00	\$80.00	\$800,000.00	\$64.50	\$645,000.00
9 A	Electronic Message Board	1	L.S.	\$142,500.00	\$142,500.00	\$50,000.00	\$50,000.00	\$162,000.00	\$162,000.00	\$44,000.00	\$44,000.00	\$65,000.00	\$65,000.00	\$157,500.00	\$157,500.00
10 A	Clearing, Grubbing, and Roadside Cleanup	1	L.S.	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00	\$645,850.00	\$645,850.00	\$249,987.00	\$249,987.00	\$100,000.00	\$100,000.00	\$137,100.00	\$137,100.00
11 A	Removal of Structures and Obstructions	1	L.S.	\$250,000.00	\$250,000.00	\$180,000.00	\$180,000.00	\$438,220.00	\$438,220.00	\$430,800.00	\$430,800.00	\$175,000.00	\$175,000.00	\$346,250.00	\$346,250.00
12 A	Removal of Concrete Pavement	1,650	S.Y.	\$30.00	\$49,500.00	\$30.00	\$49,500.00	\$16.85	\$27,802.50	\$15.00	\$24,750.00	\$28.00	\$46,200.00	\$44.50	\$73,425.00
13 A	Adjustment of Existing Groundwater Monitoring Well	2	EACH	\$5,000.00	\$10,000.00	\$1,500.00	\$3,000.00	\$1,185.00	\$2,370.00	\$3,365.00	\$6,730.00	\$2,000.00	\$4,000.00	\$1,050.00	\$2,100.00
14 A	Roadway Excavation Incl. Haul	24,050	C.Y.	\$27.00	\$649,350.00	\$30.00	\$721,500.00	\$13.00	\$312,650.00	\$40.00	\$962,000.00	\$21.00	\$505,050.00	\$31.60	\$759,980.00
15 A	Gravel Borrow Incl. Haul	11,900	TON	\$34.00	\$404,600.00	\$30.00	\$357,000.00	\$20.50	\$243,950.00	\$29.00	\$345,100.00	\$35.00	\$416,500.00	\$35.00	\$416,500.00
16 A	Potholing at Connections and Existing Utility Crossings	9	EACH	\$500.00	\$4,500.00	\$500.00	\$4,500.00	\$906.00	\$8,154.00	\$570.00	\$5,130.00	\$600.00	\$5,400.00	\$525.00	\$4,725.00
17 A	Trench Safety System For Storm Sewer	1	L.S.	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00	\$14,000.00	\$14,000.00	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00	\$27,300.00	\$27,300.00
18 A	Dust Control	20	MGAL	\$1,000.00	\$20,000.00	\$400.00	\$8,000.00	\$162.00	\$3,240.00	\$100.00	\$2,000.00	\$95.00	\$1,900.00	\$8,900.00	\$178,000.00
19 A	Construction Geotextile for Soil Stabilization	44	S.Y.	\$5.00	\$220.00	\$30.00	\$1,320.00	\$1.95	\$85.80	\$35.00	\$1,540.00	\$10.00	\$440.00	\$35.50	\$1,562.00
20 A	Crushed Surfacing Base Course	16,140	TON	\$25.00	\$403,500.00	\$35.00	\$564,900.00	\$38.65	\$623,811.00	\$32.00	\$516,480.00	\$34.00	\$548,760.00	\$42.50	\$685,950.00
21 A	Asphalt Cost Price Adjustment	1	CALC	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00
22 A	Commercial HMA	850	TON	\$180.00	\$153,000.00	\$175.00	\$148,750.00	\$79.00	\$67,150.00	\$167.00	\$141,950.00	\$335.00	\$284,750.00	\$275.50	\$234,175.00
23 A	HMA Class 1/2 In. PG 58H-22	2,800	TON	\$110.00	\$308,000.00	\$172.00	\$481,600.00	\$137.97	\$386,316.00	\$159.00	\$445,200.00	\$136.00	\$380,800.00	\$126.50	\$354,200.00
24 A	HMA Class 1/2 In. PG 58V-22, Fiber Reinforced	6,200	TON	\$125.00	\$775,000.00	\$182.00	\$1,128,400.00	\$165.78	\$1,027,836.00	\$178.00	\$1,103,600.00	\$160.00	\$992,000.00	\$149.25	\$925,350.00
25 A	Plane Bituminous Asphalt Pavement	1,100	S.Y.	\$5.00	\$5,500.00	\$10.00	\$11,000.00	\$7.20	\$7,920.00	\$13.00	\$14,300.00	\$22.00	\$24,200.00	\$12.90	\$14,190.00
26 A	Textured and Pigmented Cement Concrete Truck Apron	1,109	S.Y.	\$160.00	\$177,440.00	\$200.00	\$221,800.00	\$159.85	\$177,273.65	\$261.00	\$289,449.00	\$178.00	\$197,402.00	\$167.70	\$185,979.30
27 A	Textured and Pigmented Cement Concrete Median and Buffer Strip	1,568	S.Y.	\$110.00	\$172,480.00	\$165.00	\$258,720.00	\$159.85	\$250,644.80	\$194.00	\$304,192.00	\$178.00	\$279,104.00	\$172.80	\$270,950.40
28 A	8 Inch Diameter HDPE Storm Sewer Pipe	335	L.F.	\$65.00	\$21,775.00	\$80.00	\$26,800.00	\$164.35	\$55,057.25	\$70.00	\$23,450.00	\$73.00	\$24,455.00	\$92.50	\$30,987.50
29 A	12 Inch Diameter HDPE Storm Sewer Pipe	1,650	L.F.	\$65.00	\$107,250.00	\$100.00	\$165,000.00	\$155.00	\$255,750.00	\$115.00	\$189,750.00	\$85.00	\$140,250.00	\$98.00	\$161,700.00
30 A	15 Inch Diameter HDPE Storm Sewer Pipe	120	L.F.	\$72.00	\$8,640.00	\$106.00	\$12,720.00	\$235.55	\$28,266.00	\$110.00	\$13,200.00	\$113.00	\$13,560.00	\$106.00	\$12,720.00
	18 Inch Diameter HDPE Storm Sewer Pipe	750	L.F.	\$88.00	\$66,000.00	\$113.00	\$84,750.00	\$154.90	\$116,175.00	\$119.00	\$89,250.00	\$127.00	\$95,250.00	\$112.00	\$84,000.00
32 A	24 Inch Diameter HDPE Storm Sewer Pipe	560	L.F.	\$163.00	\$91,280.00	\$140.00	\$78 <i>,</i> 400.00	\$275.00	\$154,000.00	\$160.00	\$89,600.00	\$200.00	\$112,000.00	\$192.00	\$107,520.00
33 A	30 Inch Diameter HDPE Storm Sewer Pipe	12	L.F.	\$213.00	\$2,556.00	\$200.00	\$2 <i>,</i> 400.00	\$1,062.85	\$12,754.20	\$316.00	\$3,792.00	\$245.00	\$2,940.00	\$180.00	\$2,160.00
34 A	36 Inch Diameter HDPE Storm Sewer Pipe	620	L.F.	\$250.00	\$155,000.00	\$190.00	\$117,800.00	\$424.00	\$262,880.00	\$219.00	\$135,780.00	\$317.00	\$196,540.00	\$187.00	\$115,940.00
	8 Inch Diameter D.I. Storm Sewer Pipe	60	L.F.	\$130.00	\$7,800.00	\$120.00	\$7,200.00	\$270.50	\$16,230.00	\$106.00	\$6,360.00	\$63.00	\$3,780.00	\$139.00	\$8,340.00
35 A	12 Inch Diameter D.I. Storm Sewer Pipe	32	L.F.	\$150.00	\$4,800.00	\$150.00	\$4,800.00	\$292.65	\$9,364.80	\$168.00	\$5,376.00	\$128.00	\$4,096.00	\$165.00	\$5,280.00
	Catch Basin Type 1	18	EACH	\$1,700.00	\$30,600.00	\$1,600.00	\$28,800.00	\$2,357.65	\$42,437.70	\$2,191.00	\$39,438.00	\$2,000.00	\$36,000.00	\$2,060.00	\$37,080.00
	Catch Basin Type 1L	2	EACH	\$2,000.00	\$4,000.00	\$1,900.00	\$3,800.00	\$2,437.55	\$4,875.10	\$2,242.00	\$4,484.00	\$2,300.00	\$4,600.00	\$2,320.00	\$4,640.00
	Catch Basin Type 1 with Curb Inlet	3	EACH	\$2,000.00	\$6,000.00	\$1,800.00	\$5 <i>,</i> 400.00	\$2,505.00	\$7,515.00	\$2,201.00	\$6,603.00	\$2,200.00	\$6,600.00	\$2,350.00	\$7,050.00
39 A	Catch Basin Type 2 48 In. Diam.	18	EACH	\$3,500.00	\$63,000.00	\$3,500.00	\$63,000.00	\$5,017.00	\$90,306.00	\$8,564.00	\$154,152.00	\$4,700.00	\$84,600.00	\$5,470.00	\$98 <i>,</i> 460.00
40 A	Catch Basin Type 2 48 In. Diam. With Curb Inlet	3	EACH	\$4,000.00	\$12,000.00	\$3,500.00	\$10,500.00	\$4,605.00	\$13,815.00	\$6,828.00	\$20,484.00	\$4,700.00	\$14,100.00	\$5,730.00	\$17,190.00
	Catch Basin Type 2 54 In. Diam.	1	EACH	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$8,343.50	\$8,343.50	\$13,575.00	\$13,575.00	\$9,700.00	\$9,700.00	\$9,775.00	\$9,775.00
	Catch Basin Type 2 60 In. Diam.	3	EACH	\$6,000.00	\$18,000.00	\$6,700.00	\$20,100.00	\$8,514.15	\$25,542.45	\$13,520.00	\$40,560.00	\$8,700.00	\$26,100.00	\$9,128.00	\$27,384.00
	Catch Basin Type 2 72 In. Diam.	1	EACH	\$8,000.00	\$8,000.00	\$7,800.00	\$7,800.00	\$13,413.55	\$13,413.55	\$14,100.00	\$14,100.00	\$11,000.00	\$11,000.00	\$12,405.00	\$12,405.00
	Catch Basin Type 2 84 In. Diam. w/ Curb Inlet (Flow Control Facility)	1	EACH	\$15,000.00	\$15,000.00	\$8,500.00	\$8,500.00	\$23,165.00	\$23,165.00	\$21,580.00	\$21,580.00	\$17,000.00	\$17,000.00	\$18,100.00	\$18,100.00
	Saddle Catch Basin Type 2 54 In. Diam.	1	EACH	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$21,153.50	\$21,153.50	\$16,570.00	\$16,570.00	\$13,500.00	\$13,500.00	\$9,340.00	\$9,340.00
	Saddle Catch Basin Type 2 60 In. Diam.	2	EACH	\$9,000.00	\$18,000.00	\$7,700.00	\$15,400.00	\$13,304.00	\$26,608.00	\$17,117.00	\$34,234.00	\$14,500.00	\$29,000.00	\$9,995.00	\$19,990.00
	Catch Basin Type 2 60 In. Diam. w/ Downturned Elbow	1	EACH	\$6,500.00	\$6,500.00	\$8,400.00	\$8,400.00	\$10,518.00	\$10,518.00	\$14,100.00	\$14,100.00	\$10,000.00	\$10,000.00	\$12,400.00	\$12,400.00
	Concrete Inlet	2	EACH	\$1,400.00	\$2,800.00	\$1,100.00	\$2,200.00	\$2,475.00	\$4,950.00	\$1,650.00	\$3,300.00	\$2,100.00	\$4,200.00	\$1,890.00	\$3,780.00
	Stormwater Treatment Vault	1	L.S.	\$28,000.00	\$28,000.00	\$45,000.00	\$45,000.00	\$33,173.50	\$33,173.50	\$45,500.00	\$45,500.00	\$70,000.00	\$70,000.00	\$42,175.00	\$42,175.00
48 A	Adjust Catch Basin	1	EACH	\$650.00	\$650.00	\$750.00	\$750.00	\$1,340.00	\$1,340.00	\$520.00	\$520.00	\$850.00	\$850.00	\$630.00	\$630.00

Bid Opening

BID TABULATION SHEET (Page 2 of 4)

I-5/Trosper Road/Capitol Boulevard Reconfiguration

Project No. 2017023

Project No. 2017023					BID #1		BID #2		BID	#3	BID	<u>BID #4</u>		5	
				Engineer's Estimate		Reed Trucking & Excavating, Inc.		Pivetta Brother's Construction, Inc.				Active Construction Inc.		Miles Resources, LLC	
ITEM	Schedule A - Transportation	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
49 A	Connect to Existing Catch Basin	1	EACH	\$1,200.00	\$1,200.00	\$750.00	\$750.00	\$3,640.00	\$3,640.00	\$4,000.00	\$4,000.00	\$1,750.00	\$1,750.00	\$812.00	\$812.00
50 A	Connect to Existing Storm Main	7	EACH	\$1,200.00	\$8,400.00	\$1,000.00	\$7,000.00	\$1,825.50	\$12,778.50	\$4,100.00	\$28,700.00	\$1,750.00	\$12,250.00	\$870.00	\$6,090.00
51 A	Abandon Small Pipe	12	EACH	\$100.00	\$1,200.00	\$300.00	\$3,600.00	\$257.30	\$3,087.60	\$341.00	\$4,092.00	\$350.00	\$4,200.00	\$692.00	\$8,304.00
52 A	Abandon Large Pipe	170	C.Y.	\$100.00	\$17,000.00	\$200.00	\$34,000.00	\$214.35	\$36,439.50	\$380.00	\$64,600.00	\$400.00	\$68,000.00	\$344.00	\$58,480.00
53 A	Controlled Density Fill	100	C.Y.	\$100.00	\$10,000.00	\$150.00	\$15,000.00	\$214.35	\$21,435.00	\$200.00	\$20,000.00	\$250.00	\$25,000.00	\$144.00	\$14,400.00
54 A	Adjust Valve Box	25	EACH	\$650.00	\$16,250.00	\$500.00	\$12,500.00	\$773.50	\$19,337.50	\$415.00	\$10,375.00	\$550.00	\$13,750.00	\$420.00	\$10,500.00
55 A	Erosion Control and Water Pollution Prevention	1	L.S.	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$104,955.00	\$104,955.00	\$233,900.00	\$233,900.00	\$125,000.00	\$125,000.00	\$168,175.00	\$168,175.00
56 A	ESC Lead	1	L.S.	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$23,500.00	\$23,500.00	\$150.00	\$150.00	\$23,300.00	\$23,300.00
57 A	Compost Amended Vegetated Filter Strip	1,135	S.Y.	\$33.00	\$37,455.00	\$9.00	\$10,215.00	\$7.56	\$8,580.60	\$10.00	\$11,350.00	\$7.50	\$8,512.50	\$18.40	\$20,884.00
58 A	Seeding, Fertilizing, and Mulching	1	L.S.	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$15 <i>,</i> 876.00	\$15,876.00	\$15,221.00	\$15,221.00	\$15,000.00	\$15,000.00	\$15,435.00	\$15,435.00
59 A	Topsoil Type A	2,000	C.Y.	\$45.00	\$90,000.00	\$58.00	\$116,000.00	\$51.84	\$103,680.00	\$70.00	\$140,000.00	\$51.00	\$102,000.00	\$50.40	\$100,800.00
60 A	Bark or Wood Chip Mulch	500	C.Y.	\$18.00	\$9,000.00	\$60.00	\$30,000.00	\$57.24	\$28,620.00	\$75.00	\$37,500.00	\$57.00	\$28,500.00	\$55.65	\$27,825.00
61 A	Sod Installation	250	S.Y.	\$20.00	\$5,000.00	\$24.00	\$6,000.00	\$19.44	\$4,860.00	\$21.00	\$5,250.00	\$20.00	\$5,000.00	\$18.90	\$4,725.00
62 A	Landscape Boulder	1	L.S.	\$7,500.00	\$7,500.00	\$40,000.00	\$40,000.00	\$39,960.00	\$39,960.00	\$38,306.00	\$38,306.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00
63 A	Landscaping Plants	1	L.S.	\$180,000.00	\$180,000.00	\$150,000.00	\$150,000.00	\$144,897.12	\$144,897.12	\$138,920.00	\$138,920.00	\$145,000.00	\$145,000.00	\$140,870.00	\$140,870.00
64 A	Irrigation System	1	L.S.	\$100,000.00	\$100,000.00	\$230,000.00	\$230,000.00	\$226,612.08	\$226,612.08	\$217,253.00	\$217,253.00	\$200,000.00	\$200,000.00	\$220,320.00	\$220,320.00
65 A	Cement Conc. Traffic Curb	530	L.F.	\$30.00	\$15,900.00	\$30.00	\$15,900.00	\$30.25	\$16,032.50	\$37.00	\$19,610.00	\$36.00	\$19,080.00	\$55.20	\$29,256.00
66 A	Cement Conc. Traffic Curb and Gutter	4,350	L.F.	\$30.00	\$130,500.00	\$24.00	\$104,400.00	\$30.25	\$131,587.50	\$38.00	\$165,300.00	\$36.00	\$156,600.00	\$48.30	\$210,105.00
67 A	Cement Conc. Pedestrian Curb	1,157	L.F.	\$30.00	\$34,710.00	\$30.00	\$34,710.00	\$35.65	\$41,247.05	\$36.00	\$41,652.00	\$43.00	\$49,751.00	\$52.40	\$60,626.80
68 A	Roundabout Cement Concrete Curb and Gutter	3,730	L.F.	\$30.00	\$111,900.00	\$30.00	\$111,900.00	\$30.25	\$112,832.50	\$38.00	\$141,740.00	\$40.00	\$149,200.00	\$47.75	\$178,107.50
69 A	Roundabout Truck Apron Cem. Conc. Curb and Gutter	815	L.F.	\$35.00	\$28,525.00	\$33.00	\$26,895.00	\$48.60	\$39,609.00	\$42.00	\$34,230.00	\$60.00	\$48,900.00	\$69.65	\$56,764.75
70 A	Roundabout Central Island Cement Concrete Curb	450	L.F.	\$63.00	\$28,350.00	\$55.00	\$24,750.00	\$64.80	\$29,160.00	\$115.00	\$51,750.00	\$76.00	\$34,200.00	\$83.30	\$37,485.00
71 A	Roundabout Curb and Gutter Type 2A	1,670	L.F.	\$30.00	\$50,100.00	\$28.00	\$46,760.00	\$30.25	\$50,517.50	\$39.00	\$65,130.00	\$40.00	\$66,800.00	\$48.50	\$80,995.00
72 A	Roundabout Curb and Gutter Type 2B	140	L.F.	\$30.00	\$4,200.00	\$31.00	\$4,340.00	\$43.20	\$6,048.00	\$39.00	\$5,460.00	\$58.00	\$8,120.00	\$62.40	\$8,736.00
73 A	Raised Pavement Marker Type 1	9	HUN	\$450.00	\$4,050.00	\$450.00	\$4,050.00	\$432.00	\$3,888.00	\$414.00	\$3,726.00	\$425.00	\$3,825.00	\$420.00	\$3,780.00
74 A	Raised Pavement Marker Type 2	5	HUN	\$450.00	\$2,250.00	\$625.00	\$3,125.00	\$621.00	\$3,105.00	\$595.00	\$2,975.00	\$600.00	\$3,000.00	\$603.75	\$3,018.75
75 A	Beam Guardrail Type 31	100	L.F.	\$48.00	\$4,800.00	\$100.00	\$10,000.00	\$54.00	\$5,400.00	\$87.00	\$8,700.00	\$90.00	\$9,000.00	\$89.00	\$8,900.00
76 A	Beam Guardrail Type 31 Non-Flared Terminal	1	EACH	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	\$2,700.00	\$2,700.00	\$5,900.00	\$5,900.00	\$6 <i>,</i> 000.00	\$6,000.00	\$5 <i>,</i> 985.00	\$5,985.00
77 A	Beam Guardrail Anchor Type 10	1	EACH	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,620.00	\$1,620.00	\$1,750.00	\$1,750.00	\$1,800.00	\$1,800.00	\$1,780.00	\$1,780.00
78 A	Chain Link Fence Type 4	710	L.F.	\$40.00	\$28,400.00	\$60.00	\$42,600.00	\$57.76	\$41,009.60	\$42.00	\$29,820.00	\$44.00	\$31,240.00	\$43.20	\$30,672.00
79 A	Coated Chain Link Fence Type 3	382	L.F.	\$45.00	\$17,190.00	\$65.00	\$24,830.00	\$62.68	\$23,943.76	\$52.00	\$19,864.00	\$54.00	\$20,628.00	\$53.28	\$20,352.96
80 A	Double 16 FT. Coated Chain Link Gate	1	EACH	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,926.80	\$2,926.80	\$2,490.00	\$2,490.00	\$2,500.00	\$2,500.00	\$2,520.00	\$2,520.00
81 A	Monument Case and Cover	7	EACH	\$875.00	\$6,125.00	\$1,500.00	\$10,500.00	\$1,447.55	\$10,132.85	\$3,400.00	\$23,800.00	\$2,700.00	\$18,900.00	\$1,575.00	\$11,025.00
82 A	Cement Conc. Sidewalk and Curb Ramps	4,550	S.Y.	\$70.00	\$318,500.00	\$75.00	\$341,250.00	\$85.35	\$388,342.50	\$71.00	\$323,050.00	\$98.00	\$445,900.00	\$110.45	\$502,547.50
83 A	Quarry Spalls	130	C.Y.	\$30.00	\$3,900.00	\$50.00	\$6 <i>,</i> 500.00	\$96.00	\$12,480.00	\$55.00	\$7,150.00	\$100.00	\$13,000.00	\$87.50	\$11,375.00
84 A	Mailbox Support Type 1	2	EACH	\$600.00	\$1,200.00	\$750.00	\$1,500.00	\$3,400.00	\$6,800.00	\$1,200.00	\$2,400.00	\$550.00	\$1,100.00	\$600.00	\$1,200.00
	Survey Monuments	5	EACH	\$500.00	\$2,500.00	\$800.00	\$4,000.00	\$1,450.00	\$7,250.00	\$3,400.00	\$17,000.00	\$1,300.00	\$6,500.00	\$4,515.00	\$22,575.00
	RRFB System at Capitol & Trosper, Complete	1	L.S.	\$170,000.00	\$170,000.00	\$150,000.00	\$150,000.00	\$146,625.00	\$146,625.00	\$142,875.00	\$142,875.00	\$145,000.00	\$145,000.00	\$144,900.00	\$144,900.00
	RRFB System at Trosper & 6th, Complete	1	L.S.	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00	\$93,345.00	\$93,345.00	\$101,460.00	\$101,460.00	\$92,000.00	\$92,000.00	\$102,900.00	\$102,900.00
88 A	Illumination System - City of Tumwater, Complete	1	L.S.	\$1,020,000.00	\$1,020,000.00	\$1,250,000.00	\$1,250,000.00	\$1,271,225.00	\$1,271,225.00	\$1,155,420.00	\$1,155,420.00	\$1,250,000.00	\$1,250,000.00	\$1,171,800.00	\$1,171,800.00
89 A	Illumination System - WSDOT, Complete	1	L.S.	\$100,000.00	\$100,000.00	\$140,000.00	\$140,000.00	\$130,000.00	\$130,000.00	\$133,555.00	\$133,555.00	\$125,000.00	\$125,000.00	\$135,450.00	\$135,450.00
90 A	Permanent Signing	1	L.S.	\$90,000.00	\$90,000.00	\$157,000.00	\$157,000.00	\$124,000.00	\$124,000.00	\$131,000.00	\$131,000.00	\$25,000.00	\$25,000.00	\$164,850.00	\$164,850.00
91 A	Monument Signage	1	L.S.	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$5,920.00	\$5,920.00	\$7,850.00	\$7,850.00	\$25,000.00	\$25,000.00	\$2,625.00	\$2,625.00
	Paint Line	6,000	L.F.	\$0.50	\$3,000.00	\$1.00	\$6,000.00	\$0.70	\$4,200.00	\$1.00	\$6,000.00	\$0.70	\$4,200.00	\$0.69	\$4,140.00
	Plastic Line	3,552	L.F.	\$2.00	\$7,104.00	\$3.50	\$12,432.00	\$3.25	\$11,544.00	\$3.00	\$10,656.00	\$3.20	\$11,366.40	\$3.15	\$11,188.80
	Grooved Plastic Line	3,920	L.F.	\$2.00	\$7,840.00	\$7.25	\$28,420.00	\$7.00	\$27,440.00	\$6.00	\$23,520.00	\$7.00	\$27,440.00	\$6.85	\$26,852.00
95 A	Plastic Wide Lane Line	2,610	L.F.	\$3.00	\$7,830.00	\$5.25	\$13,702.50	\$5.00	\$13,050.00	\$5.00	\$13,050.00	\$5.00	\$13,050.00	\$4.90	\$12,789.00
	Plastic Crosswalk Line	2,000	S.F.	\$8.00	\$16,000.00	\$10.00	\$20,000.00	\$9.45	\$18,900.00	\$9.00	\$18,000.00	\$9.00	\$18,000.00	\$9.20	\$18,400.00
	Plastic Stop Line	40	L.F.	\$15.00	\$600.00	\$20.00	\$800.00	\$16.20	\$648.00	\$15.00	\$600.00	\$16.00	\$640.00	\$15.75	\$630.00
	Plastic Traffic Arrow	35	EACH	\$250.00	\$8,750.00	\$325.00	\$11,375.00	\$297.00	\$10,395.00	\$284.00	\$9,940.00	\$300.00	\$10,500.00	\$288.75	\$10,106.25
99 A	Plastic Traffic Letter	4	EACH	\$110.00	\$440.00	\$150.00	\$600.00	\$135.00	\$540.00	\$129.00	\$516.00	\$135.00	\$540.00	\$131.25	\$525.00

Bid Opening

BID TABULATION SHEET (Page 3 of 4)

I-5/Trosper Road/Capitol Boulevard Reconfiguration

Project No. 2017023

Project No. 2017023						<u>BID #1</u>		<u>BID #2</u>		<u>BID #3</u>		<u>BID #4</u>		<u>BID #5</u>	
				Engineer's	Estimate	Reed Trucking & Excavating, Inc.		Pivetta Brother's Construction, Inc.		Ceccanti, Inc.		Active Construction Inc.		Miles Resources, LLC	
ITEM	Schedule A - Transportation	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
100 A	Plastic Access Parking Space Symbol	2	EACH	\$300.00	\$600.00	\$400.00	\$800.00	\$351.00	\$702.00	\$335.00	\$670.00	\$350.00	\$700.00	\$341.25	\$682.50
101 A	Plastic Yield Line Symbol	101	EACH	\$85.00	\$8,585.00	\$75.00	\$7,575.00	\$70.20	\$7,090.20	\$67.00	\$6,767.00	\$70.00	\$7,070.00	\$68.25	\$6,893.25
102 A	Plastic Wide Dotted Entry Line	435	L.F.	\$5.00	\$2,175.00	\$8.50	\$3 <i>,</i> 697.50	\$8.35	\$3,632.25	\$8.00	\$3 <i>,</i> 480.00	\$8.00	\$3,480.00	\$8.15	\$3,545.25
103 A	Plastic Crosshatch Marking	160	L.F.	\$8.00	\$1,280.00	\$12.00	\$1,920.00	\$10.80	\$1,728.00	\$10.00	\$1,600.00	\$11.00	\$1,760.00	\$10.50	\$1,680.00
	Schedule A Total			\$9,112,014.00		\$10,374,494.05		\$11,074,329.45		\$11,541,730.12	4	511,757,015.51	:	\$12,039,575.43	
ITEM	Schedule B - Water	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1 B	Mobilization	1	L.S.	\$68,512.16	\$68,512.16	\$77,400.00	\$77,400.00	\$53,315.07	\$53,315.07	\$58,630.14	\$58,630.14	\$108,447.49	\$108,447.49	\$62,480.49	\$62,480.49
2 B	Minor Change	1	CALC	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
3 B	Potholing at Connections and Existing Utility Crossings	26	EACH	\$500.00	\$13,000.00	\$500.00	\$13,000.00	\$897.00	\$23,322.00	\$570.00	\$14,820.00	\$550.00	\$14,300.00	\$525.00	\$13,650.00
4 B	Trench Safety System For Water Main	1	L.S.	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$7,100.00	\$7,100.00	\$2,000.00	\$2,000.00	\$3,218.03	\$3,218.03	\$20,475.00	\$20,475.00
5 B	Abandon Small Pipe	25	EACH	\$100.00	\$2,500.00	\$300.00	\$7,500.00	\$250.00	\$6,250.00	\$341.00	\$8,525.00	\$300.00	\$7,500.00	\$460.00	\$11,500.00
6 B	Abandon Large Pipe	5	C.Y.	\$100.00	\$500.00	\$200.00	\$1,000.00	\$221.00	\$1,105.00	\$415.00	\$2,075.00	\$425.00	\$2,125.00	\$643.00	\$3,215.00
7 B	Connect to Existing 6 In. Diam. Water Main (Inc. Potholing)	4	EACH	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$5,655.00	\$22,620.00	\$3,500.00	\$14,000.00	\$3,600.00	\$14,400.00	\$5,420.00	\$21,680.00
8 B	Connect to Existing 8 In. Diam. Water Main (Incl. Potholing)	8	EACH	\$3,500.00	\$28,000.00	\$3,800.00	\$30,400.00	\$7,560.00	\$60 <i>,</i> 480.00	\$12,400.00	\$99,200.00	\$5,000.00	\$40,000.00	\$5,890.00	\$47,120.00
9 B	Connect to Existing 12 In. Diam. Water Main (Incl. Potholing)	3	EACH	\$5,000.00	\$15,000.00	\$5,000.00	\$15,000.00	\$9 <i>,</i> 443.00	\$28,329.00	\$12,100.00	\$36,300.00	\$5,000.00	\$15,000.00	\$11,150.00	\$33,450.00
10 B	Adjust Valve Box	5	EACH	\$650.00	\$3,250.00	\$500.00	\$2,500.00	\$748.00	\$3,740.00	\$500.00	\$2,500.00	\$650.00	\$3,250.00	\$420.00	\$2,100.00
11 B	Blowoff Assembly	5	EACH	\$3,000.00	\$15,000.00	\$6,000.00	\$30,000.00	\$4,521.00	\$22 <i>,</i> 605.00	\$4,700.00	\$23,500.00	\$4,700.00	\$23,500.00	\$3,660.00	\$18,300.00
12 B	6 In. Diam. Ductile Iron Pipe Class 52 for Water Main	41	L.F.	\$142.00	\$5,822.00	\$88.00	\$3,608.00	\$232.45	\$9 <i>,</i> 530.45	\$118.00	\$4,838.00	\$125.00	\$5,125.00	\$161.00	\$6,601.00
13 B	8 In. Diam. Ductile Iron Pipe Class 52 for Water Main	340	L.F.	\$142.00	\$48,280.00	\$125.00	\$42,500.00	\$176.95	\$60,163.00	\$114.00	\$38,760.00	\$135.00	\$45,900.00	\$121.00	\$41,140.00
14 B	12 In. Diam. Ductile Iron Pipe Class 52 for Water Main	1,620	L.F.	\$162.00	\$262,440.00	\$170.00	\$275,400.00	\$169.65	\$274,833.00	\$148.00	\$239,760.00	\$150.00	\$243,000.00	\$154.00	\$249,480.00
15 B	16 In. Diam. Ductile Iron Pipe Class 52 for Water Main	1,030	L.F.	\$187.00	\$192,610.00	\$235.00	\$242,050.00	\$273.10	\$281,293.00	\$210.00	\$216,300.00	\$230.00	\$236,900.00	\$222.00	\$228,660.00
16 B	18 In. Diam. Ductile Iron Sleeve for Water Main	40	L.F.	\$250.00	\$10,000.00	\$185.00	\$7,400.00	\$485.00	\$19,400.00	\$420.00	\$16,800.00	\$435.00	\$17,400.00	\$308.00	\$12,320.00
17 B	Gate Valve 8 In.	12	EACH	\$2,000.00	\$24,000.00	\$2,200.00	\$26,400.00	\$2,607.00	\$31,284.00	\$1,830.00	\$21,960.00	\$2,500.00	\$30,000.00	\$1,870.00	\$22,440.00
18 B	Gate Valve 12 In.	12	EACH	\$4,000.00	\$48,000.00	\$3,750.00	\$45,000.00	\$4,280.00	\$51,360.00	\$3,250.00	\$39,000.00	\$4,000.00	\$48,000.00	\$3,330.00	\$39,960.00
19 B	Butterfly Valve 16 In.	12	EACH	\$3,500.00	\$42,000.00	\$4,200.00	\$50,400.00	\$4,951.50	\$59 <i>,</i> 418.00	\$3,890.00	\$46,680.00	\$5,000.00	\$60,000.00	\$4,010.00	\$48,120.00
20 B	Hydrant Assembly	7	EACH	\$5,000.00	\$35,000.00	\$8,500.00	\$59 <i>,</i> 500.00	\$8,571.55	\$60,000.85	\$9,348.00	\$65,436.00	\$8,250.00	\$57,750.00	\$8,420.00	\$58,940.00
21 B	0.75" Service Connection	3	EACH	\$2,500.00	\$7,500.00	\$1,500.00	\$4,500.00	\$2,156.00	\$6 <i>,</i> 468.00	\$3,667.00	\$11,001.00	\$2,300.00	\$6,900.00	\$2,650.00	\$7,950.00
22 B	1" Service Connection	2	EACH	\$3,000.00	\$6,000.00	\$1,800.00	\$3,600.00	\$2,315.00	\$4,630.00	\$4,275.00	\$8,550.00	\$2,500.00	\$5,000.00	\$2,970.00	\$5,940.00
23 B	1.50" Service Connection	3	EACH	\$5,000.00	\$15,000.00	\$4,200.00	\$12,600.00	\$4,605.00	\$13,815.00	\$5,760.00	\$17,280.00	\$5,700.00	\$17,100.00	\$5,330.00	\$15,990.00
24 B	2" Service Connection	3	EACH	\$5,500.00	\$16,500.00	\$5,000.00	\$15,000.00	\$5,135.00	\$15 <i>,</i> 405.00	\$5,864.00	\$17,592.00	\$6,500.00	\$19,500.00	\$4,940.00	\$14,820.00
25 B	Reducing Pressure Backflow Assembly Relocation	3	EACH	\$1,000.00	\$3,000.00	\$750.00	\$2,250.00	\$1,350.00	\$4,050.00	\$6,811.00	\$20,433.00	\$8,000.00	\$24,000.00	\$1,670.00	\$5,010.00
		Schedu	le B Subtotal		\$924,914.16		\$1,032,008.00		\$1,170,516.37		\$1,075,940.14		\$1,098,315.52		\$1,041,341.49
			les Tax 9.5%		\$87,866.85		\$98,040.76		\$111,199.06		\$102,214.31		\$104,339.97		\$98,927.44
		Schedul	e B Total		\$1,012,781.01	-	\$1,130,048.76		\$1,281,715.43	-	\$1,178,154.45	_	\$1,202,655.49	-	\$1,140,268.93
ITEM	Schedule C - Sewer	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1 C	Mobilization	1	L.S.	\$32,623.20	\$32,623.20	\$35,931.90	\$35,931.90	\$24,630.14	\$24,630.14	\$29,771.69	\$29,771.69	\$64,073.06	\$64,073.06	\$36,241.09	\$36,241.09
2 C	Minor Change	1	CALC	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
3 C	Potholing at Connections and Existing Utility Crossings	18	EACH	\$500.00	\$9,000.00	\$500.00	\$9,000.00	\$870.00	\$15,660.00	\$570.00	\$10,260.00	\$550.00	\$9,900.00	\$525.00	\$9,450.00
4 C	Trench Safety System for Sanitary Sewer	1	L.S.	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$4,320.00	\$4,320.00	\$2,500.00	\$2,500.00	\$2,750.00	\$2,750.00	\$21,525.00	\$21,525.00
5 C	Adjust Manhole	3	EACH	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$1,425.00	\$4,275.00	\$675.00	\$2,025.00	\$950.00	\$2,850.00	\$630.00	\$1,890.00
6 C	Abandon Small Pipe	13	EACH	\$100.00	\$1,300.00	\$300.00	\$3,900.00	\$250.00	\$3,250.00	\$341.00	\$4,433.00	\$325.00	\$4,225.00	\$639.00	\$8,307.00
7 C	Abandon Large Pipe	25	C.Y.	\$100.00	\$2,500.00	\$200.00	\$5,000.00	\$209.35	\$5,233.75	\$390.00	\$9,750.00	\$400.00	\$10,000.00	\$698.00	\$17,450.00
8 C	Connect to Existing Sanitary Sewer Main	1	EACH	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$7,275.00	\$7,275.00	\$1,780.00	\$1,780.00	\$2,700.00	\$2,700.00	\$3,280.00	\$3,280.00
10 C	8 In. Diam. Solid Wall PVC Sanitary Sewer Pipe	810	L.F.	\$112.00	\$90,720.00	\$156.00	\$126,360.00	\$153.25	\$124,132.50	\$108.00	\$87,480.00	\$215.00	\$174,150.00	\$172.00	\$139,320.00
	10 In. Diam. Solid Wall PVC Sanitary Sewer Pipe	660	L.F.	\$162.00	\$106,920.00	\$165.00	\$108,900.00	\$239.00	\$157,740.00	\$116.00	\$76,560.00	\$233.00	\$153,780.00	\$177.00	\$116,820.00
	Sewer Manhole 48 In. Diam.	8	EACH	\$8,000.00	\$64,000.00	\$7,500.00	\$60,000.00	\$8,995.00	\$71,960.00	\$10,520.00	\$84,160.00	\$11,000.00	\$88,000.00	\$10,330.00	\$82,640.00
	Side Sewer Stubout	1	EACH	\$3,300.00	\$3,300.00	\$3,500.00	\$3,500.00	\$3,075.00	\$3,075.00	\$20,351.00	\$20,351.00	\$4,400.00	\$4,400.00	\$1,380.00	\$1,380.00
	Side Sewer Stubout and Connect to Existing Sewer Line	7	EACH	\$3,800.00	\$26,600.00	\$4,500.00	\$31,500.00	\$2,610.00	\$18,270.00	\$10,950.00	\$76,650.00	\$5,000.00	\$35,000.00	\$5,200.00	\$36,400.00
	Saddle Sewer Manhole 48 In. Diam. To Connect to Existing Pipe	1	EACH	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$11,115.00	\$11,115.00	\$9,970.00	\$9,970.00	\$17,000.00	\$17,000.00	\$12,065.00	\$12,065.00
	Connect to Existing Sanitary Sewer Manhole	3	EACH	\$4,000.00	\$12,000.00	\$1,500.00	\$4,500.00	\$3,900.00	\$11,700.00	\$7,100.00	\$21,300.00	\$4,500.00	\$13,500.00	\$8,800.00	\$26,400.00
	Bypass Puping	1	L.S.	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$28,295.00	\$28,295.00	\$59,670.00	\$59,670.00	\$16,613.03	\$16,613.03	\$40,850.00	\$40,850.00
<u> </u>			-	,											

Bid Opening

BID TABULATION SHEET (Page 4 of 4)

I-5/Trosper Road/Capitol Boulevard Reconfiguration

Project No. 2017023

	Project No. 2017023			BID #1		BID #2		BID #3		BID #4		BID #5				
				Engineer's Estimate			_	Pivetta Brother's Construction, Inc.		Ceccanti, Inc.		Active Construction Inc.		Miles Resources, LLC		
ITEM	Schedule C - Sewer			TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		
	Scheddle C - Sewei	Schodul	e C Subtotal		\$440,413.20		\$479,091.90		\$540,931.39		\$546,660.69		\$648,941.09		\$604,018.09	
			les Tax 9.5%		\$41,839.25		\$45,513.73		\$51,388.48		\$51,932.77		\$61,649.40		\$57,381.72	
		Schedule C Total		-	\$482,252.45	-	\$524,605.63		\$592,319.87	-	\$598,593.46	-	\$710,590.49	-	\$661,399.81	
ITEM	Schedule D - Schedule 74 Utility Trenching	QTY UNIT		UNIT PRICE TOTAL		UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE TOTAL		UNIT PRICE	TOTAL	
1D	Mobilization	1	L.S.	\$20,120.00	\$20,120.00	\$20,290.53	\$20,290.53		\$11,214.61	\$18,336.99	\$18,336.99	\$24,102.28	\$24,102.28	\$15,153.79	\$15,153.79	
	Minor Change	1	CALC	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	
3 D 1	Trench Safety System for Joint Utility Trench	1	L.S.	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,160.00	\$2,160.00	\$9,050.00	\$9,050.00	\$1.00	\$1.00	\$2,100.00	\$2,100.00	
4 D	Vault Excavation	1	L.S. L.S.	\$20,000.00	\$20,000.00	\$7,500.00	\$2,500.00	\$8,100.00	\$8,100.00	\$32,100.00	\$32,100.00	\$15,747.93	\$15,747.93	\$7,875.00	\$7,875.00	
	Joint Utility Trench	1,600	L.S. L.F.	\$70.00	\$112,000.00	\$50.00	\$80,000.00	\$48.60	\$77,760.00	\$76.00	\$121,600.00	\$40.00	\$64,000.00	\$47.25	\$75,600.00	
6D	Install Conduits and Vaults	1,000	L.F.	\$30,000.00	\$30,000.00	\$67,000.00	\$67,000.00		\$61,884.00	\$70,331.00	\$70,331.00	\$50,000.00	\$50,000.00	\$73,500.00	\$73,500.00 \$73,500.00	
-	Service Trench	250	L.S. L.F.	\$30.00	\$7,500.00	\$07,000.00	\$6,250.00	\$21.60	\$5,400.00	\$50.00	\$12,500.00	\$30,000.00	\$6,250.00	\$73,500.00	\$5,250.00	
8D (City 4 Inch Conduit and Vaults in Joint Utility Trench	700	L.F.	\$35.00	\$24,500.00	\$35.00	\$24,500.00	\$33.50	\$23,450.00	\$31.00	\$12,500.00	\$20.00	\$14,000.00	\$31.50	\$22,050.00	
_	Electric Service Conversion	2	EACH	\$5,000.00	\$15,000.00	\$35.00	\$24,500.00	\$5,400.00	\$16,200.00	\$3,625.00	\$10,875.00	\$10,000.00	\$30,000.00	\$3,675.00	\$11,025.00	
		Schodule	e D Subtotal	\$5,000.00	\$13,000.00 \$271,620.00	\$7,500.00	\$22,500.00 \$270,540.53		\$10,200.00 \$246,168.61	<i>\$3,023.00</i>	\$10,875.00 \$336,492.99	\$10,000.00	\$30,000.00 \$244,101.21	\$3,075.00	\$252,553.79	
			les Tax 9.5%				\$270,540.33		\$23,386.02				\$23,189.61		\$23,992.61	
		Schedule		-	\$25,803.90		\$296,241.88		\$269,554.63	-	\$31,966.83		\$267,290.82	-	\$276,546.40	
		Scheule			\$297,423.90		\$290,241.00	I	3203,554.05		\$368,459.82		\$207,290.82		ŞZ70,540.40	
	Schedule A Total		e A Total		\$9,112,014.00		\$10,374,494.05		\$11,074,329.45		\$11,541,730.12		\$11,757,015.51		\$12,039,575.43	
		Schedule	e B Total		\$1,012,781.01		\$1,130,048.76		\$1,281,715.43		\$1,178,154.45		\$1,202,655.49		\$1,140,268.93	
		Schedule	e C Total		\$482,252.45		\$524,605.63		\$592,319.87				\$710,590.49		\$661,399.81	
		Schedule	e D Total		\$297,423.90		\$296,241.88		\$269,554.63		\$598,593.46 \$368,459.82		\$267,290.82		\$276,546.40	
		Project T	Гotal		\$10,904,471.36		\$12,325,390.32				\$13,686,937.85				\$14,117,790.57	

*Items in red have been adjusted by Awarding Agency to correct mathematical errors. Mobilization amounts adjusted per Addendum #1 requirements. In reference to Bid #2, Pivetta Brother's Construction, Inc. the bid total was increased by one cent due to mathematical error. **Bid Opening**

